EMD-L100
Art Nr..30151362 1
Zn.Nr.:809-01-050-40

Fur folgende

Erddruckmessdosen:

Bez.2: WIKA S-10 0-6BAR

T
; L 5% | ArtNr: 30036263
/ ] Bez.2: WIKA S-10 0-10BAR
| 4 AFENF: 30134133

L Bez2: WIKA S-10 1-9BAR

2 \ /3‘=‘ 2 O /I AffZ_Nr.: 30037051 2
4‘% Bez 2: EESK6/6VE/0-6BAR-EX

100 101 AFENr: 40108795

Bez.2: D114
ArtNr.: 25101861

2 Bez.2: S5-10000 0-6BAR D619 @
ArtNr.. 40286250

1 200 Pos. 1. AUFNAHME

Pos. 2: BLINDFLANSCH
] ERDRUCKMESSDOSE-TK92-DD| [—
Art.Nr.:30047126

Zn.Nr.:809-01-050-10

4 Pos. 1 wird uber Stuckliste bestelltf. 4
(@ |Pos. 2 bei Bedarf Einsatzwahrscheinlichkeit auf 100% setfzen.

D | Baugruppen aufgelost 25032021 |schoenfc | 26.03.2021 |mannherd

| | C | Text "AUFNAHME" erginzt 10.112017 | schroetv | 16.11.2017 | schlossr
B | Varianten der Erddruckmessdosen entfernt; Aufnahme ergénzt. 11012017 | trotterm | 11012017 | steinert
Revision| Change Date Drawn Date |Released

The reproduction, distribution and utilization of this document as well as the communication of its contents General tolerances
to others without express authorization is prohibited. Offenders will be held liable for the payment of
damages. All rights reserved in the event of the grant of a patent, utiity model or design. ISO 16016

5 | Edges of undefined shape ISO 13715:2000 | Drawing trpe 5
Geometrical product specification (GPS) EN 1SO 1101:2013 assemby
. " Project Machine type
Surface specifications according to EN ISO 1302:1992
STANDARD-AVN

HERRENKNECHT Name

EARTH PRESSURE SENSOR BASIC -
ERDDRUCKMESSDOSE BASIS
Tunnelling Systems | WIKA-GLOETZL

www.herrenknecht.com Drawing number I sheet T Revision | Format

Date Name 809-01-050-80 11 D | A
Drawn 02.06.2015 |Loh, Mike Scale Material no. Material Weight/kg Projection
Released 13.12.2016 | Steiner, Thomas 1:2 140113927 7 =

A C



Baukastenstuckliste
modular BOM

Tunnelling Systems

Projekt project
Material 40113927 material 40113927
Bezeichnungl ERDDRUCKMESSDOSE BASIS description 1 EARTH PRESSURE SENSOR
BASIC
Zchng.Nr/ver 809-01-050-80/ D draw.No/ver 809-01-050-80/ D
Gewicht 7 KG weight 7 KG
Werk 1000 plant
Pos. | Typ| Material Menge Bezeichnung 1 / Bezeichnung 2 description 1 / description 2 Zchng.Nr/ver/Bpf Gewicht
type qty draw.No/ver weight
1 L 25600346 1,000 ST |ZWISCHENFLANSCH INTERMEDIATE FLANGE 118-00-059-03/B 2.70 KG
2 L 25652054 1,000 ST | BLINDFLANSCH BLIND FLANGE 4,00 KG
100 L 28000129 1,000 ST|O-RING O-RING 0,00 KG
101 L 28001077 1,000 ST|O-RING O-RING 9,00 G
200 L 24001926 8,000 ST |SECHSKANTSCHRAUBE GVZ HEX.HEAD SCREW ZP 16,00 G
M10X30-8.8-DIN933 M10X30-8.8-DIN933
201 L 24005943 3,000 ST|ZYLINDERSCHRAUBE GVZ HEX.SOCKET HEAD CAP SCREW ZP 0,04 KG
M8X100-8.8-DIN912 M8X100-8.8-DIN912
* Z = Infoteil 08.09.20221/1

* Z = reference part




